d-na (oT ogHON) 3TO 3aBUCUMOCTb OHOW
nepemMeHHOW OT ApYrou, Npu KOTOPOW
f(X)=x"2+x+5

KaXOoMy 3Ha4YeHU0 X COOTBETCTBYET

EAVNHCTBEHHOE 3HayeHne y

y=x"2+x+5

y=x"2
f(x)=ax*n + bx*n-1 +... + cx +d= (hx’\2+kx+u)(h1x"2+k1x+u1) (sx+z)(fx)é)
hx"2+kx+u)(h1x"2+k1x+u1) (sx+z)(fx+t)= S
yA2=X - He -5 -1 /;(
g(x)=ax™n + bx*n-1 +... + cx +d=(hx*2+kx+u)(h1x*2+k1x+u1)*.. (ux+w)(qx+
XA2+5X+6—O (hxA2+kx+U)(hTXA2+k A x+U1 ¥ * (Ux+w) (0x+D) =0 \I\// P XD/
/\2 + 6 + 9 3 — O (hxA2+kx+u)(h1x*2+k1x+u1 )*....*(sx+z)(fx+t)*(hx"2+kx+u)(:1 x"2-l-\li;<+u\l )*....*(ux+q\
X XTI-X-O0=VU |00

(X+ 3 )AZ - (X+ 3 ) — O (sx+z)(fx+t)*(ux+w)(gx+p)=0

f(2)=0 f(3)=0
g(3)=0 g(5)=0



